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1) Piston consider arrangement with a cylinder of 8 cm inside diameter having a piston
loaded with a spring (spring stiffness k= 150 N/cm of compressmn) The mmal pressure,
volume and temperature of air in the cylinder are 3 x 10° N/m?, 0.000045 m’ and 20°C
respectively. Determine the amount of heat added to the system so that piston moves by
3.5 em. Assume cv =0.71 kJ/kg K and R = 0.287 kJ/kg K.
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/ 2) 1 kg of gaseous CO; contained in a closed system undergoes a reversible process at.
constant pressure. During this process 42 kJ of internal energy is decreased. Determine
the work done during the process. Take ¢, = 840 J/kg.°C and cv = 600 J/kg.°C.
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